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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa has 5.25 |b of gifts and he adds 2.75 Ib more.
How many |b of gifts does Santa have now?

A Christmas tree is 3.75 yards tall. An ornament
adds 0.25 yards to its height. How tall is the tree
now?

A Christmas cookie recipe calls for 1.25 cups of
sugar. If you only have 0.75 cups, how much more

do you need?

A Christmas stocking is 0.85 yards long. If you add
a 0.15 yard long bell, how long is it now?

A Christmas ornament weighs 0.65 Ib. If you add a
0.35 Ib ribbon, how much does it weigh now?

A Christmas light string is 2.25 yards long. If you
remove a 0.25 yard section, how long is it now?

Santa's sleigh weighs 4.75 Ib. If Santa removes a
0.75 Ib gift, how much does the sleigh weigh now?

A Christmas cake weighs 1.85 Ib. If you eat 0.85 Ib
of it, how much is left?

A Christmas wreath is 0.95 yards in diayard. If you
add a 0.05 yard ribbon, how big is it now?

10 The Christmas dinner cost $125.50. The dessert cost
i15.25. How much did the entire meal cost?
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